All requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied

Signature Wysh M. Broken	
Title President Date	4-27-98
Subscribed and sworn to before me this 27th day of	April
Notary Public Brafine Items	
Date Commission Expires 11-14-2000	

F Lette	C. OFFICE USE ONLY or of Confidentiali ine Log Received ogist Report Receiv	ty Attached
KCC	Distribution SWD/Rep Plug	NGPA Other (Specify)

ALLIED CEMENTING CO., INC. P.O. BOX 21 PUBBELL, NS 67665 PH (785) 483-3887 FAX (785) 483-5568

INVOICE

Invoice Number: 07 REDEIVED
ANSAS CORP COMM
Invoice Date: 04/23/98
INSB APR 30 P 1:09

Sold Becker Oil Corp. To: 122 E. Grand Suite #212 Ponca City, OK 74601 ORIGINAL

Cust T.D. ... Beck

P.O. Number..: Hester #1 P.O. Date...: 04/23/98

Due Date.: 05/23/98 Terms...: Net 30

Item I.D./Desc. Qty	7. Used	Unit	Price	Net	TX
Common	120.00	SKS	7.5500	906.00	E
Pozmix	80.00	SKS	3.2500	260.00	E
Ge1	3.00	SKS	9.5000	28.50	E
Salt	21.00	SKS	7.0000	147.00	E
CFW-2	86.00	LBS	4.4500	382.70	E
Handling	200.00	SKS	1.0500	210.00	E
Mileage (75)	75.00	MILE	8.0000	600.00	E
200 sks 05.04 per s	k per mi				
	1.00	JOB	1214.0000	1214.00	E
Mileage pmp trk	75.00	MILE	2.8500	213.75	E
Rubber plug		EACH	38.0000	38.00	E
AFU Insert	1.00	EACH	235.0000	235.00	E
Guide Shoe	1.00	EACH	140.0000	140.00	E
Turbo Centralizers		EACH	53.0000	424.00	E
Centralizers	2.00		53.0000	106.00	E
Basket	1.00	EACH	129.0000	129.00	E
Baker Loc	1.00	EACH	30.0000	30.00	E
All Prices Are Net, I	Payable 30 Days	Following Sub	total:	5063.95	
Date of Invoice. 1 1/				0.00	
If Account CURRENT ta			ments:	0.00	
ONLY if paid within 3			al:	5063.95	
				- 759.59	and A
				1121436	
				117147	

#31093

X

WELL PLUGGING RECORD CARD

May 4, 1998

50420

Becker Oil Corp.

122 E. Grand, Suite 212

Ponca City, OK 74601

MAY 1 3 1998

DATE PAID

660 FSL 1980 FEL

Sec: 11-20S-35W

Wichita, County

5060'

Hester #1

\$164:45

Post & Mastin Well Service

4-21-98		LOO PEOID	4-30-98		4-21-98	
APP'L REC'D	PERMIS	SION DATE X	LOG REC'D	WPR RE	CD	DATE PLUGGED
WELL CLASS	GAS	OIL	SWD	INPUT	D&A	OTHER
Michael Maier			4-23-98			
AGENT		D.A. REPORT REC'D				
	15	-20,002-0001				
ADIAHIMADED						

API NUMBER